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NDA 1 2025 LIVE CLASS - REVISION - MATHS

Let f(x) =|x| + 1 and g(x) = [x] — 1, where [.]
is the greatest integer function.

Let h(x) =13

g(x)
What is lim A(x)+ lim A(x) equal
x—0- x—=0+

to? -
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Let f(x) =|x| + 1 ;,nd g(x)=[x] -1, where [.]

is the greatest integer function. PYQ - 2024 - |
Let h(x) =L
g(x)
What is lim A(x)+ lim A(x) equal
x—0- x—=0+
to? -
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Ans: (a)
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What is lim (secB - tan8) equal to?
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What is lim (secb - tan®6) equal to?
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Ans: (b)

PYQ-2024-1I




NDA 1 2025 LIVE CLASS - REVISION - MATHS

x cot(4dx)

Q) L 1s equal to
) xl—I:*I}J sinZ x cot?(2x) e
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: xcot(dx) .
Q) Iim 1s equal
) x— 0 sin? x cot%(2x) ’
(a) 0 (b) 1

Ans: (b)
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\/% (1 — cos? x) |

Q) The value of lim(.) 1S
x— X
(a) 1 (b) -1
()0 (d) None of these
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\/% (1 — cos? x) |

Q) The value of lim(.) is
x— X
(a) 1 (b) -1
()0 (d) None of these

Ans: (d)



NDA 1 2025 LIVE CLASS - REVISION - MATHS
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: 1 2 n :
Q) llm( 5+ 5+t )1sequalto
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Ans: (b)
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log(3+ x) —log(3 — x)

Q)If lim =k, the value of  1s
x—0 X
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QIf lim log(3+ x) —log(3 — x)

xr—0 X

=k, the value of k 1s
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Ans: (d)
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(@]

Q) it lim{ fx) } exists, then which one of the following correct

x—a| g(X)
?

(@) Both limf(x)and lim g(x) must exist

X—a X—a

(b) limf(x)need not exist but lim g(x) must exist
X—a X—a

(¢) Both Iimf(x)and lim g(x) need not exist
X—a X—a

(d) Imif(x) mustexistbut lim g(x) need not exist
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Q) it lim{ fx) } exists, then which one of the following correct

x—a| g(X)
?

(@) Both limf(x)and lim g(x) must exist

X—a X—a

(b) limf(x)need not exist but lim g(x) must exist
X—a X—a

(¢) Both Iimf(x)and lim g(x) need not exist
X—a X—a

(d) Imif(x) mustexistbut lim g(x) need not exist
X—4a X—a

Ans: (a)
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X X
Q) Whatis lim & —b" 9

X—(0

X
(2) 1og(%] b) log [E]
d
(¢) ab (d) log(ab)
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X X
Q) Whatis lim & —b 9

X—() X
@) log [%) (b) log [g
(¢) ab (d) log(ab)

Ans: (a)
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1

Q) What is lime equal to?

x—0
@) 0
(b) 1
(c) -1

(d) Limit does not exist
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1

Q) What is lime ¥ equal to?

(a) 0 x—0
(b) 1
© -1

(d) Limit does not exist

Ans: (a)
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Q) The function f(x) 1S given
2 . . .

f(x) = xz, ?f X 1_8 ?atm?lal then, 1t 1s

—x“, 1f x 1s 1rrational

(a) continuous at x =0

: 1
(b) continuous at x = — '

(c) discontinuous at x =0
(d) None of the above
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Q) The function f(x) 1S

2 . . .
x”, 1if x1s rational .
f(x)= ’ then, 1t 1s
— x?, if x is irrational
(a) continuous at x =0

(b) continuous at x = —

(c) discontinuous at x =0
(d) None of the above

Ans: (a)
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(@]

9% — sin ' x

2x + tan™! x

Q)If the function f(x)= ,(x#0) 1s

continuous at each point of its domain, then the value

of f(0)1s
(a) 2 (b) 1/3 (c) 2/3 (d) -1/3
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9% — sin ' x

1

Q)If the function f(x)=
2x + tan " x

(x#0) is

continuous at each point of its domain, then the value
of f(0)1s
(a) 2 (b) 1/3 (c) 2/3 (d) —1/3

Ans: (b)
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o \/1 — cos 0
Q) What is lim
6—-0 0
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1— 0
Q) What is lim \/ o equal to?
6—-0 0
(a) \2 (0) 22 ©) %

Ans: (c)
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Q) f(x) = cos(| x| ) 1s a continuous function because
(a) composition of continuous functions 1s a
continuous function
(b) product of continuous functions i1s a continuous
function
(c) cosine is an even function
(d) sum of continuous functions is continuous

@i=]
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Q) f(x) = cos(| x| ) 1s a continuous function because
(a) composition of continuous functions 1s a
continuous function
(b) product of continuous functions 1s a continuous
function
(¢) cosine is an even function
(d) sum of continuous functions is continuous

Ans: (a)

@i=]



NDA 1 2025 LIVE CLASS - REVISION - MATHS

3 2
_|_
Q)What is lim X x

x> -1 x% +3x +2
(@) 0 (0) 1 (C) 2

equal to?

(d) 3
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3 2
_|_
Q)What is lim X X

x> -1 x% +3x +2
(@) 0 (0) 1 (C) 2

Ans: (b)

equal to?

(d) 3
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@i=]

EXAMS

Q) Let f(x)be defined as follows
2x+1, -3<x<-2
f(x)=1x-1 -2<x<0
x+2  0<x<1

Which one of the following statements is correct in
respect of the above function?

(a) ltis discontinuous at x = — 2 but continuous at every other
point.

(b) Itis continuous only in the interval (-3, — 2).

(c) ltis discontinuous at x = 0 but continuous at every other
point.

(d) It is discontinuous at every point.
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@i=]

EXAMS

Q) Let f(x)be defined as follows
2x+1, -3<x<-2
f(x)=1x-1 -2<x<0
x+2  0<x<1

Which one of the following statements is correct in
respect of the above function?

(a) ltis discontinuous at x = — 2 but continuous at every other
point.

(b) Itis continuous only in the interval (-3, — 2).

(c) ltis discontinuous at x = 0 but continuous at every other
point.

(d) It is discontinuous at every point.

Ans: (c)



NDA 12025 LIVE CLASS - REVISION - MATHS
(@]

EXAMS

Q) If f(x)=+ g tanx;x # 0 1s continuous at x =0,
X
ki =0
then the value of k1is
(@) 7 (b) 6

() -5 (d) -1
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EXAMS

Q) If f(x)=+ ki tanx;x # 0 1s continuous at x =0,
X
|k x=0
then the value of k1is
(@) 7 (b) 6
) -5 (e} — 1

Ans: (a)
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